Subject: Re: Is the sky falling?
Posted by David Fanning on Wed, 15 Jan 2014 13:41:14 GMT

View Forum Message <> Reply to Message

Helder writes:

| couldn't find any reference to explain this, so here is probably the typical beginners post.
Why is does the INTARR(3,3)+1 expression result in a LONG array?

>

>

>

> |IDL> HELP, INTARR(3,3)+1

> <Expression> LONG = Array[3, 3]
>
>

Shouldn't it be an integer array?

| certainly get integers. Are you sure you don't have the INT32 compiler
option on?

Cheers,

David

David Fanning, Ph.D.

Fanning Software Consulting, Inc.

Coyote's Guide to IDL Programming: http://www.idlcoyote.com/
Sepore ma de ni thue. ("Perhaps thou speakest truth.")
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